TR 20 4 HE ARSI AN ST SOV AR B 2

R 2944 H 1 B OR300 3 A 31 HET

I T R

(HAZ - M)
g HBVFERFE | DS EERE
#H EAZE &at
NI HBFE L IR FEE 1
I —RRIEBRRSPEHR DO EB
1. REH O
(1) R
SRR P 2% 10, 000 0 0 10, 000
FLAR P PEE A 10, 000 0 0 10, 000
BANESL ¢ 225, 000 0 0 225, 000
A=)V A A RN 225, 000 0 0 225, 000
HHIN L 41, 158, 000 9, 257, 000 0 50, 415, 000
TR fE B A 14, 880, 000 0 0 14, 880, 000
FEBHFIA 57,000 30, 000 0 87, 000
ENIOFJEEE = JVPN 2, 540, 000 0 0 2, 540, 000
LINESES RS TS T NN 18, 315, 000 9, 227, 000 0 27, 542, 000
T OARE B FEINA 5, 366, 000 0 0 5, 366, 000
S % 34, 623, 000 2,913, 000 4, 960, 000 42, 496, 000
IENE BRI = B & 26, 222, 000 2,913, 000 4, 960, 000 34, 095, 000
HT R HE B F A4 5,901, 000 0 0 5,901, 000
TS ORR B EFEEM A 2, 500, 000 0 0 2, 500, 000
&N 0 0 0 0
MEI AR 17, 000 0 1, 000 18, 000
f B IOA 16, 000 0 0 16, 000
HEUA 1, 000 0 0 1, 000
AR E 0 0 1, 000 1, 000
S ERT 76, 033, 000 12, 170, 000 4,961, 000 93, 164, 000
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My BBl B g R 31, 485, 000 0 0 31, 485, 000
Fakh 8, 648, 000 0 0 8, 648, 000
RN E 4 351, 000 0 0 351, 000
BTk 0 0 0 0
ERIEAEE 1, 744, 000 0 0 1, 744, 000
i GISUE ¢ 41, 000 0 0 41, 000




BEER 211, 000 211, 000
AT EN 2 0 0
THFES T2 o 2 0 0
THFE Y 60, 000 60, 000
ErEE 0 0
FI A2 760, 000 760, 000
BRELE 0 0
CBIKEE 0 0
EEE 259, 000 259, 000
TRBEr 5, 000 5, 000
R 390, 000 390, 000
TR 9, 000 9, 000
&N =Eik 0 0
FHk 352, 000 352, 000
N ¢ 1, 458, 000 1, 458, 000
ZtE 17, 086, 000 17, 086, 000
A MiFE i A 0 0
HEH 111, 000 111, 000
T ORE EHERE 8, 998, 000 8, 998, 000
fa kT 3,021, 000 3, 021, 000
PRIRF I B 4 786, 000 786, 000
RIS A 0 0
(=Rt ¢ 637, 000 637, 000
Jifcde 22 i 40, 000 40, 000
WG EM A 53, 000 53, 000
AT A2 0 0
THAEST 2500 2 0 0
THFEM 2 100, 000 100, 000
ErE# 0 0
FI LA 2 1,611, 000 1, 611, 000
PRAELEY 0 0
B IKR 0 0
B 0 0
TRIGE! 60, 000 60, 000
A 103, 000 103, 000




Ziskink/N Y 1,000 0 1, 000
BN bk 0 0 0
FEE 332, 000 0 332, 000
N ¢ 324, 000 0 324, 000
ZRtE 1, 838, 000 0 1, 838, 000
A MiFEE 4R 0 0 0
HEE 92, 000 0 92, 000
WY R A PR o o 25, 628, 000 9, 392, 000 35, 020, 000
fakh 5, 509, 000 1, 141, 000 6, 650, 000
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RIS E A 0 0 0
fEFIE A 1,175, 000 253, 000 1, 428, 000
it 22wy 2, 000 0 2,000
BEER 174, 000 0 174, 000
DA E 2 0 0 0
THAE(T 25 G 2 0 0 0
THFEM B 1, 124, 000 0 1, 124, 000
ErEE 1, 305, 000 0 1, 305, 000
FI il S A 2 219, 000 0 219, 000
BRABLEY 2, 419, 000 1, 410, 000 3, 829, 000
SRR 5, 320, 000 2, 748, 000 8, 068, 000
E{EE 455, 000 0 455, 000
TRIE! 89, 000 28, 000 117, 000
A 0 0 0
FABLARR 11, 000 2, 000 13, 000
XA 0 0 0
TRk 3, 303, 000 946, 000 4, 249, 000
N ¢ 0 0 0
ZFtHE 4,523, 000 2, 864, 000 7, 387, 000
A MiFE i A 0 0 0
e 0 0 0
T O AR P g R Ry 12, 701, 000 0 12, 701, 000
Fakh 6, 184, 000 0 6, 184, 000
MR &4 0 0 0
IR E 0 0 0




ERIE AR 1, 156, 000 0 1, 156, 000
i 22wy 0 0 0
WS ER 62, 000 0 62, 000
TBATEE A 0 0 0
THFE(T 250 0 0 0
THFE 274, 000 0 274, 000
ErEE 500, 000 0 500, 000
FI A2 386, 000 0 386, 000
RN 1, 209, 000 0 1, 209, 000
B IKR 1,911, 000 0 1,911, 000
= 65, 000 0 65, 000
TRBEE 0 0 0
RE T 0 0 0
TR 1, 000 0 1, 000
PN =Eik 0 0 0
FHE 248, 000 0 248, 000
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ZtE 698, 000 0 698, 000
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HER 7, 000 0 7, 000
EHE 0 4, 960, 000 4, 960, 000
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FaBhF 4 0 2, 824, 000 2,824, 000
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(IRt ¢ 0 603, 000 603, 000
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WS R 0 8, 000 8, 000
DRAT B 202 0 0 0
THFEAT 250 0 0 0
THFE L 0 101, 000 101, 000
fEfEE 0 0 0
EI il 5 A 0 0 0
PR 0 226, 000 226, 000




B IKR 0 0 165, 000 165, 000
B 0 0 457, 000 457, 000
PRBE: 0 0 0 0
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FHBLAATR 0 0 133, 000 133, 000
B XN Rk 0 0 48, 000 48, 000
FHCE 0 0 82, 000 82, 000
ZERtHE 0 0 309, 000 309, 000
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